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‘3~M.Tech. Degree Examination, Dec.2014/Jan.2015
Protocol Engineering

Second Semestdr

faﬂ";me 3 hrs 8. Max. Marksl()O

? Note: Answer any FIVE fuil questions.

Mzﬂxon the key t’f sks of communications. " (07 Marks)
b. Whé,t{;}s commumcatlon software? Illustrate some examples of comnmgfif"ation softwares.

(05 Marks)
c. Define ci um atlon protocol. Draw the ﬂowchart for simple m%age exchange protocol
and explai i (08 Marks)
2 a ' Explam some of t]g%ﬂansmmsmn erTors. N (05 Marks)
What is the need for{g tive acknowledgement? o (05 Marks)

c. Write a note on : o (i}

. 1) Congestion a oldanc 4

it} Cyclic redun ancy chec £ f;} (10 Marks)
3 a 1 ist the protocol jinctions and ex‘ff i (10 Marks)
b. Give the OSI refdence model and g the function each layer. (10 Marks)

4 a What is <erv1cf:_ pemﬁcatxon" théwFsM for service specification for reliable data
transfer by using $ervice pri s. Explain in bi‘;ef service events and their actions.
| o e (10 Marks)
b. Briﬂﬂy describe t e prot@%mlty spec1ﬁcat10n \:} ' (10 Marks)
5 a What is protocdig;%émﬁcatlon languageV Mentlon @ ?fferent protocol specification
gk language. ‘55 - (05 Marks)
b. Give the sah,@q&féatures of SDL. " J (05 Marks)
c. Bric ﬂy d@rjbe tfle QA protocol. ) (10 Marks)
L N

ﬁ‘the need for protocol verlﬁcatlon and validation? Explain E%te?_sﬁt;gty and hveness
jerties of a pmtocol /. (10 Marks)
3lain the following protocol des1gn erTors : #

State deadloc‘%, '

Unspecified réception. "'“’ZlQMarks)

¥
e
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| conformance test architecture and explain each component, in brlef B
5 1o Marks) ;

b. Write an algorlth 1 “Test subsequence generatlon usmg U — method” and explain in brief.

! '. (10 Marks)

8 a. tht is protocol :‘ nthesis? Explain the interactive synthesis algorithm. (10 Marks)
b.

Briefly describe | 1 the steps in protocol implementation framework. (10 Marks)
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